Rechentest KI. 2
Zeit| Pkt]| Soll

Eltern:

Schiiler:

siebenundachtzig
vierunddreildig
sechsundneunzig
neunundvierzig
zwelundfiinfzig
achtundsechzig
funfundsiebzig
einundzwanzig
funfundneunzig
achtundsechzig

1=__

34+45=__ 58-3

92+2/7/=__ 95-60=
8+ 9=__ 79-46=
25+34=__ 37- 5=
62+26=__  86-72=
7+ 8=__ 46-42=
40+50=__ 70-50=
3+34=___ 69-29=
84 +15=___ 86-72=
5+60=__ 98- 4=

34

35

68

50

82

90

30

100

65 +24 =____
8=___
15+ 74 =
86 -16 =
43 + 24 =
97 -50 =
f+32 =
100 - 70 =
81+ 8=
76 -70 =

59 -




-8 +7
15 — —
41 6| /7|13
+7 L -
20+ __ =80
7+__ =15
32+ ___ =56
43+ __ =49
16+___ =76
_ _+42=179
__+27 =47
___+ 5=068
___+83=289
_ _+14=96

| -6 | +9 _-7
{+8-6+3-5=__
9-3+48-54+7=___
6+5-4+49-8=___
8-64+49-34+49=__
54+49-6+7-8=___
| +6 .'3 _+8 o
/9- =42
47 - =27
68- = 4
97-_ =83
86 - =14
=26 =42
_ -32=57
____-B3= 14
=19 =70
- 24=34






